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1. (@) Write a note on Explicit Vs. Implicit Cost 6_f Capital. , ' '5

(b) A company has to make a choice between two projects namely A and B. The initial»
capital outlay of the projects are Rs. 1,35,000 and Rs. 2_,40,000 réspectively. T_he scrap’
value of the project ‘A’ is Rs. '5,000 and of Prbjéct ‘B’ is Rs. 10,000. The required

rate of return is 16%. The profit after tax are as under :

P.T.O.
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" Year Project A Project B P.VF. @

| 16%

1 — 60,000 0.862
2 30,000 84,000 0.743
3 1,32,000 96,000 0.641

4 84,000 1,02,000 0.552

5 84,000 90,000 0.476

“You are required to calculate ARR, net present value and Profitability Index for each
project. Which project should be selected ? 10
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a9 qfEeET A QRIS B P.V.F. &t =
| 16%
1 — 60,000 0.862
2 30,000 . 84,000 0.743
3 1,32,000 96,000 - 0.641
4 84,000 1,02,000 0.552
5 84,000 90,000 0.476
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Or.

(3Feram

(@) Are retained earnings less costly than new issue of equity shares ? Explain and

(b)

illustrate. 5

A company has machine with book value of Rs. 20,000. However, the machine if sold
today can fetch Rs. 10,000 to the company. In case, the machine is sold after four years
from now, it will realize nothing. The company is contemplating to replace the e_xiéting
méchine with the new one which would cost Rs. 1,10,000. The salvage vélue of the
new machine after four years will be Rs. 10,000. The company is in the tax bracket
of 45%. The purchase of new machine would enable the company to reduce its operating |
cost by Rs. 50,000 every year for the next four years. Advise, whether the new machine

shall be purchased to replace the old machine, if both the machines are subject to straight

line method of depreciation. The firm’s cost of capital is 12% : 10
Year PVF. @ P.VAF. @
12% 12%
1 0.893 0.893
2 0.797 1.690
3 0.712 2.402
4 0.636 3.037

P.T.O.
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1 0.893 0.893
2 0.797 1.690
3 0.712 2.402

4 0.636 3.037



(a)

)

( 5) 1398

How do you calculate the payback period of a project ? Despite its weaknesses, the

payback method is popular. Why ? 5

The capital structure of XYZ Co. is comprising of 12% debentures, 9% preference shares
and 25,000 equity shares of Rs. 100 each, in the mtio of 3:2 :-5. The company is
considering to raise additional 14% loan of Rs. 10 lakhs from financial institutions. The
tax fate of the company is 40%. It is expected to pay a dividend of Rs. 15 at the
end of the year. The growth rate of dividend is 5%. The market price of the she;re is
Rs. 120. No change is expected in dividends, growth rate and market price of the share

after taking the proposed loan.
Calculate :
(/) The existing Weighted Average Cost of Capital (WACC)

(i) The new WACC after raising loan. ' 10
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(1)
If k <IRR, NPV is positive. Do you agree ? Explain. 5

The share of ABC Ltd., is currently selling at Rs. 20 per share. The firm has paid a

dividend of Rs. 2 per share, last year. The estimated growth fate of dividend is 8%

per annum : 10
(1) . Calculate the cost of equity capital of the company.

()  Taking cost of equity capital as calculated in point (i), determine the estimated market

value of the equity share if the anticipated growth rate of dividend :
(1) rises to 10% and

(2) falls to 5%.

(i) - Determine the cost of equity share if the company is expected to pay a dividend

of Rs. 2 per share forever. 10
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(%) A k < IRR, NPV 1% 3| a1 319 WeHd § ? =Orew s
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Why do we focus on wealth maximization rather than on profit maximization in ﬁnanciai
decision-making ? | 5
The share capital of ‘X" Ltd., is Rs. 12,00,000 with share of Rs. 10 each. The coméany
also has 15% debt of Rs. 8,00,000. The sales of the firm are 2,00,000 units per annum

at a selling price of Rs. 6 per unit. The variable cost is Rs. 3 per unit. The fixed operating

cost amounts to Rs. 1,00,000.

P.T.O.
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Calculate :
(f) Operating Leverage
(i) Financial Leverage
(i) 1f the sales volume increases by 20%, calculate percentage increase in EBIT.
(iv) If EPS is to be doubled, what is the % increase in EBIT required ? IA 10

(%) 71 FRW § 7% 70 w-Afusaiiem 50 | we €k1 5@ § 1 f iy ks
T eny-Afusadiater |
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15% T 8,00,000 & F XU ¥ wH 6 % W gfre fawa I W 2,00,000
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(@) Explain briefly business risk and financial risk. How are they measured ? 5

(b) The Levered company and Unlevered company are identical in every respect except that
the levered company has 6%, Rs. 2,00,000 debt outstanding. As per the NI approach,

the valuation of the two firms is as follows :

Particulars Unlevered Levered
EBI”f 60,000 60,000
Interest — 12,000
EBT 60,000 48,000
Equity Capitalization Rate (K,) 0.100 0.111
Value of Equity (E) 6,00,000 4,32,000
Value of Debt (D) — 2,00,000
Total value of the Firm (V) 6,00,000 6,32,000

Mr. X holds 10% worth of the Levered Company’s shares. Explain using
arbitrage process, how X will be better off by switching his holding to Unlevered

company. : ' 10

P.T.O.



( 10 ) 1398
(%) 999§ g Afem ok fdm Sfew w1 wren it = 39 aw s
%2 |

(@) Wt ST 3R el FT W ool A GUET § S99 39 A0 F DA Fh
ol FT W 6% W 2,00,000 & F HT THE F1 NI IO B IR T A

WA 1 IEAHA 3 TER B

faazor G ) G
EBIT 60,000 60,000
= _ . 12,000
EBT 60,000 48,000
A feET R (K . 0.100 0.111
3 w1 9 (B) 6,00,000 4,32,000
*U H 94 (D) — ©2,00,000
wH H FA T (V) 6,00,000 6,32,000

fet X & 99 10% g & oo FT 2 R T oRwE wiEw w1 wEn
T A FTY 7 FE YR X A feafd § Am ww o o afven =
e HE A o W
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(@) How does the cost of the equity (K) and overall cost of capital (K ) behave with increase

in leverage, under the traditional approach of capital structure ? 5

- (b) ‘P’ Ltd. has EBIT of Rs. 10,00,000. The company currently has outstanding debt of

Rs. 20,00,000 at a cost of 8%. Using the NI approach and cost of equity of 12.5%

calculate :

() Total value of the firm and the firm’s overall cost of capital.

(7))  Assume that the firm issues an additional debt of Rs. 10,00,000 and uses the proceeds
to retire equity. Compute the new value of the firm and the firm’s overall cost

of capital. Other things remain the same. 10
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(@) Explain the various forms in which stable dividend policy may be followed by

a fim. 5

(b) A company earned net profit of Rs. 5,00,000 and currently has 1,00,000 equity shares
of Rs. 10 each. The company is planning to distribute a dividend of one rupee per share.

If shareholders’ expected rate of return is 16% and the firm’s rate of return is 13%,

find :

() The value of the share for current D/P ratio using Walter’s model and Gordon’s
miodel.
(i) Isthe current dividend policy optimum under Walter’s model ? If not, suggest the

optimum dividend policy and calculate the price at this policy using Walter’s

model. _ 10

(%) fafr= w9 = =gren sifae i w1 fer aviw i & sgm = wed
?i

(@) T ®F 3 5,00,000 & & Faa @y e fea ® SR 3w uw s W
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Explain any one of the following : 5
(/) Baumol’s model of cash management.
() EOQ model of inventory management.

The management of Royal Ltd. produces 1,80,000 units in a year. The cost structure

of the.company for this level of activity is as under :

Particulérs Cost per unit (Rs.)
Raw Material 30
Direct Labour . _ | 10
Overheads (Including Depreciation of Rs. 5 per unit) 25
Total cost ' 65
Profit 15

Selling price 80

P.T.O.
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Additional Information -

(» Minimum desired cash balance is Rs. 30,000.

() Raw materials are held in stock for two months.

(fi)) Work in process is half a month’s production.

(iv) Finished goods remain in warehouse on an average, for a month.

(v)  Suppliers of materials extend a month’s credit and debtors are provided two months
credit.

(vi) Cash sales are 25% of total sales.

There is a time-lag in payment of wages of a month and half a month in the case of
overheads. You are required to prepare a statement showing working capital requirement
on cash cost basis. 10

(%) frafafes 4 & &l e =) = sifae .
(@) Vs veg &1 9N TGl
() WA-YH Y&y H EOQ HAlsd |

(@) e fafee =1 vaw 1,80,000 IR 1w ot § Fmfor w1 ¥ w90 1 @
Y 30 R F Nl @ fAw 39 WER ¥

faawor | g Ife (%)
Fe "I 30
YA 5H 10
U= (5 % 9 IR geumm W wita W) 25
%A AT 65
Y 15

fawg wima 80
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sfaftaa gom :
() a9 qifsd ke AW 30,000 T T
(i) F= WA QY AR &+ fau wE § T
(i) 3Ny HIE H ScaRd, WiwHA # R
(fv) R " lEae & AR % fau Yer # wa R

(v) WEAE $ 9RIR W TF A8 & $hie W T AR ITRR * @ ur #1 Bfee
fean sman ®)

vi) e famt, wa fasmt &1 25% R

TorRfEt wt ST # Sufteadi & H9 A ¢ AR F GHARK B MR s Ar
YR W FRRNE $oft F sTavEma w1 ORRE WO FE TR R

Or
(3rg=m)
Explain any three of the following :
(i) Operating cycle
(i) Benefits aﬁd costs associated with the extension of credit
(iif) Factors influencing the planning of capital structure
(iv) Permanent and Variable Working Capital

(v) Annuity and Perpetuity. ' 15

P.T.O.
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